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a4 A BHFAMD
ZolM ZRIHH BRI (S /A EO|OHOIR)
SOotA 22|43t (G E )
S - T .S (3]H]) - MEA g2 Of) & o4 dE = Hm=2
CAESMUL ZoANE ng AN
2,000,000 = 14 2,000
SAE 47 ANE 25 Y
1,000,000& ¢! 1,000
oAlzZ= (g SARS NN & HE
6,000,000 * 14l 6,000
oAl== AHAI IIE 22
2,000& = 100290 = 103l 2,000
STHAIE EA AZE (Y SRS M
100,000 = 221 = 5Jf A 1,000
oMeHAIE MELA EXE HIE
600,000 * 1Al 600
oSN . ZUAE O208 222 19
20,000& * 1% = 23| 40
oA AKX EAl HAIE HZ 80008 * 60004 4,800
o289 1,500
SMEXEIIZ YN BHLY
100,000& * 69 = 23| 1,200
CAZSAMAHA AEDS ALY
150,000& = 23| 300
301 Lt A= 49,992 0 49,992
10 SALAHI 2 A2 1,412 0 1,412
Ooger BAa2 1,412
oS MUR HAHT 2HA
2,000 » 1502 = 23| 600
o AH|AF ZFAIY 2tES] ALY
7,000 x 58% x 23| 812
12 JIEtE2 &2 48,580 0 48,580
OJ|EF B4 2 48,580
SAZEOIEDA M polY BEH|
40,000& = 58H * 13| = 98 20,880
CBE . 2o AE AN BAD
50,0008 * 50A 2,500
o(Helll JISAE 24 THigA M E
X 300,000& = 10944 3,000
oMeHAIE ASI| X& 300,000 * 44002 13,200
STHUAE SMEE X2
30,0002 * 3004 A~ 9,000
405 XHAFE S HI 8,500 500 8,000
01 IR EEFFSHI 8,500 500 8,000
OMAMYEEFSHI 8,500
cAZEST HE AR EH Y
3,500,000& = 1CH 3,500
STAAE MBS Oy B2 MW U &2
oty 5,000,000 * 1Al 5,000
SAIE2SIHH =& 20,800 12,000 8,800
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SERNCEIPN SN BA MY
HE: ABIM BIMH S (BA/ABOIGON)
el AIZOIM el (S92
= - FSIE =
A= 2N -SA(SH) - NRAY - BE=Z Ol &+ 9K Ofl At ot HwsZ
201 Yer2g| 10,800 12,000 A1,200
01 AtR2elt] 3,300 2,000 1,300
oY 22| 2,500
oESAMCH E22 NN
2,000,0008 * 14! 2,000
oWYAL U HEAMNC HIYA EXT
I = 50,0008 * 108l 500
o2gag 800
oF2AC 18 o 2| MM &+Z
10,0008 * 8% 800
03 A2 Y| 7,500 10,000 A2,500
OFESAH 1Y 2XI| HalBASSH]
3,500,0002 * 14! 3,500
OSAR3 N O{RI0IASE= BA 2
4,000,002 * 14! 4,000
301 YBrEAS 10,000 0 10,000
12 JIEtE A2 10,000 0 10,000
OJIEtR &2 10,000
CPIMMHIA BAS FIB AL BAKX o4
200,0008 * 50% 10,000
MBI U5 AY 2B 14,040 14,320 £280
202 01t 14,040 14,320 280
01 2Uioibl 14,040 14,320 A280
O A Sl ofH|
130,0002 * 8% * 122 12,480
OF| - HEIZe DTS H20iH|
130,0008 * 33| * 43| 1,560
HH2SSAUI(SASAM D) (IIEH/IIE) 3,919,301 4,451,298 A531,997
TEE-ENEE 3,858,831 4,388,477 A529,646
DRI X 3,858,831 4,388,477 A529,646
101 Q1248 3,660,471 4,177,517 AB517,046
01 B 3,567,943 4,177,517 £609,574
o=3 1,971,483
c43(012) 66,082,008 * 1% 66,082
o523 2,961,302 * 3% * 122 106,607
o632 2,485,4002 * 13% * 128 387,723
o732 1,090,308 * 202 * 122 477,672
o83 1,330,9002 * 24% * 128 383,300
o932 1,085,2009 * 7% + 122 91,157
oI 2,328,002 * 98 * 122 251,424
SIS 207,518
3 2,555,6009 * 28 * 122 61,335
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ro 02 Hr
JY 03 1y
Ho Ao b

H
il

x

SN SAMD
22 HI (2 A4 (JIEHIIEF)
SEIEE)
CEE - SR(SI) - MBAY - BAS 0l &k 24
82 2,132,702 * 2% = 122 51,185
XE 1,583,308 * 5% « 128 94,998
SIICE 158,784
o224y 1,905,401,0008 * 1/12 158, 784
OxH224Y 212,973
oAt 4 g 212,973
zae
7.4572 % 10AI2F * 853 * 128 76,062
SEEL]
7,4572 % 18AI2H * 859 * 128 136,911
ORULg 293,233
oltE4Y 78,432
WX 40,000% * 86 « 0.9 * 128 37,152
JbE 20,0009 * 86 + 2.0 * 128 41,280
oXtAstH BE4Y 34,200
=5 51,9902 * 863 * 0.3 * 43 5,366
DSstD 419,000 * 86% * 0.2 * 43 28,834
o2 JMS 100,000 + 86 * 128 103,200
cHRTRH +g
1,971,483,0009! * 4.8% * 35/100 33, 121
cRHIRLY 43,440
RIE 50,0008 * 14 * 128 8,400
=E 40,0002 * 73 * 128 35,040
oS4 224g 840
ST (MaTBA)
40,0002 * 19 * 128 480
B (PLB BAK L)
30,0002 * 1% * 128 360
Os+9e g 931,470
ollEYe 4+g 22,200
52 014 50,0008 * 2% * 128 1,200
673 30,0002 * 352 * 128 12,600
.82 0l3t 20,0008 * 35 * 128 8,400
2R 4% 8,840
- ot 70,0002 * 1% « 128 840
A5 50,0002 + 162 * 128 9,600
o2 IIA} 50,0002 + 14 * 128 8.400
ofgsoEBe 9y +g 20
A2 UK 10,0008 * 1 + 122 120
oNSX 2F L FH 4+
40,0002 * 4% * 128 1,920
cRUAD £g 30,0002 * 5% * 122 1,800
oFAUZ A 130,000 * 86% * 122 134, 160
SLSHIZXH 130,008 * 862 * 128 134,160
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SETNCEIPS SN BASM
Y HE YA (BEALA M) (IIEH/IIE})
©el: QHERAY|(Z5Z) et M)
AR RN IH (BN HRAY - B S S 2
0f 4 o8
=EEESI
1,905,401,000& * 1/12 = 120% 190,541
o JHH X &Y
1,905,401,000& * 0.167/12 = 12& 318,202
o0t A
1,971,483,000& = 1/12 = 1/30 = 20 109,527
02 JIEtEE 92,528 0 92,528
OAAR(OI2) 92,528
oJllE2s 66,082,000& * 1% 66,082
oxd 14,374
s 960
— B A 40,0009 * 18 = 1.00 = 123 480
-J= 20,0003 » 1 » 2.00 = 128 480
sl =2 909,000& = 12& 10,908
A2t
7,4573 « 18 « 28A12t » 128 2,506
o Mg A 130,000& = 1€ = 12& 1,560
cuwEE 2| 120,000& = 18 = 12& 1,440
o IS &M
66,082,000& = 1/12 = 1/30 = 20 3,672
o2& sl 50,000& * 18 * 12& 600
oA g &SR 400,000& * 19 * 12& 4,800
AR 198,360 210,960 A 12,600
01 MG HR=HZH| 9,600 9,600 0
043 (2 %) 400,000& = 1€ » 128 4,800
Ob5= 100,000& * 4H « 128 4,800
Mg B 139,560 149,760 A 10,200
O43 (2 &) 400,000& * 19 * 12& 4,800
Ob=s 250,000& = 3% = 128 9,000
062 (Do Ba)
155,000& = 13H = 123 24,180
O7= 140,000& = 22H = 123 36,960
08~9=2 105,000& = 38H = 123 47,880
EH6S 155,000& * 9H « 12& 16,740
SZYR-HE S 49,200 51,600 A 2,400
Onglgstl (63 0olot)
50,000& » 82 * 12& 49,200
] 11,420 11,860 AN440
229yl 1,420 11,860 A440
2= 11,420 11,860 AN 440
I 2 HE =4 3,300 3,300 0
OJl&2=2gd g4f=ad 3,300
SEAPSy 3,300,000& » 14 3,300
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HT
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. N XH
S =

- SR(2AH) - NRAL

CHASE

OH
i

20
R
J2H

=ZH A S W

5,454,646
113,231
1,510,236
62,500
441,715
3,326,964

5,061,227

=ZHALSE W

5,412,915

112,347
1,510,236
62,500
441,206
3,286,626

5,021,027

391,888

N
N

0z
e
12
o
0z
e
o

W

H

2,169,760
98,721
642,501
168,628
1,259,910

1,882,015

287,745

02

M
N
0y
™
>
©

= mn X

258,874
129,437

25,887
103,550

259,376

AB02

101 1A H]

= H Y

6,600
3,300

660
2,640

12,968

NG6,368

04 JIZtHZ2HSE=

Og =J1E8AE

6,600,000& * 14|

=Y

6,600

6,600
3,300

660
2,640

12,968

NG6,368

307 2120l &

=N Y

252,274
126,137

25,227
100,910

246,408

5,866

(e}
10

0o
4a
1
fu
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252,274,0008 * 14

=N Y

252,274
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126,137
25,227
100,910

246,408

5,866
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17,600

29,820

AT,820
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30,000,000& = 14!
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30,000
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6,000
24,000
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/9,000

St HUBE] HAALY

= HmnY

90,000
45,000

9,000
36,000

60,000

30,000

101

>N

30,000
15,000

3,000
12,000

15,000

15,000

04

30,000,000& * 14|

= HmX

30,000

30,000
15,000

3,000
12,000

15,000

15,000

201

RIS

43,000
21,500

4,300
17,200

30,500

12,500
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31,000,0008 * 14!

12,000,000& * 14

el I
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3,100
12,400
12,000
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6,000
1,200
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7,500
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= Hmn¥
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301 Let2a=

=Y

5,000
2,500
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2,000

2,500

2,500

AL 5,000,000& = 14

= N Y

5,000

5,000
2,500
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2,000

2,500

2,500

307 2120l &

=N Y
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1,500

300
1,200

3,000

01 <

3,000,000 * 14!

= mn X
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405 AH&HFESHI
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= Y
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42,300
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1
H0
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4,500,000& * 14|

= H X

4,500

4,500
2,250

450
1,800

4,500

301 Let2a=s

=N X

2,500
1,250

250
1,000

4,500

22,000

2,500,000 * 14

=X

2,500
2,500

1,250
250
1,000

4,500

22,000

307 QI12tolH

=X

31,000
15,500

3,100
12,400

27,000

4,000

01 2

31,000,000& =+ 14

=X

31,000

31,000
15,500

3,100
12,400

27,000

4,000

405 AHoHESHI

=X

2,700
1,350

270
1,080

2,700

01 XH&ats

2,700,000& * 14!

=Y

2,700

2,700
1,350

270
1,080

2,700

A ol=Hl K&
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154,180

30,836
123,344

307,328
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= H X

308, 360
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30,836
123,344

307,328
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A2 BAA SN AYSTD
Ha: AYTA JIPE A (22/22AR)
ol AYME MF M3 (B9 &2
| = ol = = 1% I|_-|LI;=|_||:_ =
A= 2N -SA(SH) - NRAY - BE=Z O AF K Ofl At ot HwsZ
01 ASl2EE 463 308,360 307,328 1,032
OSSN o2 X2 308,360,000 * 14! 308,360
p 154, 180
= 30,836
Al 123,344
MBS FIAEAY 22,000 29,820 A7,820
= 4,400
Al 17,600
307 212+0I 22,000 29,820 A7,820
= 4,400
Al 17,600
01 A2LR2H| 22,000 29,820 A7,820
OMLTE ATAY 22,000,000 * 14! 22,000
= 4,400
Al 17,600
AYME A A 32,994 52,500 19,506
101 o121 23,994 21,500 2,494
04 JIAH22RSES 23,994 21,500 2,494
O2SHZA oz 11,997
SSIEE 41,8002 * 198 » 230 9,614
oxgsy 41,8002 * 1% 46 1,923
SEP 41,8008 * 19 » 11 460
O 2ERa2Y o=y 11,997
S 41,8002 * 230 9,614
oxg4Y 41,8002 + 46 1,923
QIR g 41,8002 * 11 460
201 LBr2 Y| 9,000 9,000 0
01 AFR 22/t 8,000 8,000 0
O+ 8,000
CUALMBAH BHT LAY
6,000,0002 * 14! 6,000
CAYMBAN IINE MR
2,000,0008 * 14 2,000
02 =2l 1,000 1,000 0
SYEETIEWE 1,000
c2SHYA Il S|
1,000,0002 * 14! 1,000
FOHESMONMED ARALTE 7,467 8,348 881
g 5,973
Al 1,494
201 Y2 Y| 680 684 A4
p 544
Al 136
01 AFR 22/t 680 684 A4
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83,316

>y

146,636

73,319
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OM 2l ==
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>Ny

= mn X
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30,783
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NERNCEIPS SN ALBEY
HE: AYTA TS (22A/2202)
SRl AUME A MEF (S92
A= . = B . CHl(5 o o FSJE -
A= 2N - X - SASH) - MRAY - BES Ol &+ 9K Ol Ak O BlusZ
= 7,404
Al 17,276
05 DIRtSIEr2 123,401 116,941 6,460
OADAMOF S20IXIE 123,401,000 * 14] 123,401
= 98,721
= 7,404
Al 17,276
DI%0F 2 MES0IA0F O RY X2 84, 156 102,240 A18,084
| 42,078
= 12,623
Al 29,455
301 YBrBAZ 84, 156 102,240 ~18,084
| 42,078
= 12,623
Al 29,455
01 AtBlE == 4512 84, 156 102,240 18,084
ODI%0t 2 HM&ESO0IA0t 2 2HI X2
84,156,0008 * 14! 84, 156
| 42,078
= 12,623
Al 29,455
EATAX A 623,100 462,860 160,240
201 Yer2o| 4,100 3,000 1,100
01 AtR2elt] 4,100 3,000 1,100
oSg4+g 4,100
CRXFEAL AL 100,008 * 23 + 128 2,400
CEMTY AT AEAME
17020 * 10,000% 1,700
301 YBrBAZ 539,000 387,460 151,540
01 At BZ X453 538,000 386,200 151,800
O BM4EZY MBI 538,000
o 3 T of 10,0002 * 800% 80,000
oS ot 300,0008 * 600 180,000
o AU O 500,0002 * 1502 75,000
o YU OFOI & 1,000,008 * 20% 20,000
oCHRIE JHE T2Wl 72,0008 * 2,500% 180,000
oF (LB = 428 500,008 * 6% 3,000
10 SAtAIHI A 1,000 1,260 A260
ORXB2AAIY 1,000
cALYDA2Y HOK 24
5,0002! * 208 * 103l 1,000
307 2120/ H 80,000 72,400 7,600
01 22272 80,000 72,400 7,600
ORXB2AAIY 80,000
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Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
== ° T (=) iy o L) ° T NS oS =5 &= 04| AFOH U=sa

CcENEAHAY BXEE
50,000,000& * 14 50,000
cEBRasr RFI| F2Y 100,000& * 50CH 5,000
COUAE, AS0F ALATAIY
200,000& = 10& 2,000
CNERSENAA & 2X HE
35,000& * 200 7,000
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